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BUSINESS STATISTICS

Paper–BBA–204

Time : Three Hours] [Maximum Marks : 60

Note : Attempt two questions each from Section A & B carrying

10 marks each and the entire Section C consisting of

10 short answer type questions carrying 2 marks

each.

SECTION—A

I. Define Statistics. Explain its importance in business and

management.

II. Calculate mean, median and mode from the following

data :

X 2 3 4 5-7 7-10 10-15 15-20 20-25

f 1 2 2 3 5 10 8 4
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III. A measure of dispersion is a good supplement to the central

value in understanding a frequency distribution. Comment.

IV. From the following table, calculate the coefficient of correlation

by Karl Pearson’s method :

X 6 2 10 4 8

Y 9 11 — 8 7

Arithmetic mean of X and Y series are 6 and 8 respectively.

SECTION—B

V. Calculate the regression equations of X on Y and Y on X

from the following data :

X 1 2 3 4 5

Y 2 5 3 8 7

VI. Explain the different methods of measuring trend values of

a time series.

VII. From the following data, calculate price index for 1988 by

using :

(a) Laspeyre’s method.
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(b) Paasche’s method.

(c) Fisher’s method.

(d) Dorbishbowley’s method.

 Year            A           B         C        D

Price Quantity Price Quantity Price Quantity Price Quantity

 1980 24 8 9 3 16 5 10 3

 1988 30 10 10 4 20 8 9 4

VIII. Distinguish between interpolation and extrapolation. Show

clearly necessity of interpolation by taking a few concrete

examples.

SECTION—C

(Compulsory Question)

IX. Write short notes on the following :

1. Central tendency.

2. Dispersion.

3. Coefficient of variation.

4. Coefficient of determination.
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5. Standard error of estimate.

6. What are regression coefficients?

7. Assumptions of interpolation.

8. Cyclic Variations.

9. Utility of correlation.

10. Quartile deviation.
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PUNJABI VERSION

not : Bwg A Aqy B ivcoN do-do pRSn kro[ hryk pRSn dy
10 AMk hn[ Bwg C swrw kro[ ies ivc 10 sMKyp au~qr
vwly pRSn 2-2 AMkW dy hn[

Bwg—A

I. AMkVw ivigAwn dI pirBwSw idE[ ibjnYs Aqy pRbMD
ivc ies dI mh`qqw dI ivAwiKAw kro[

II. hyT ilKy AMkiVAW qoN AOsq, mwiDAk Aqy bhulk dw
ihswb lwE :

X 2 3 4 5-7 7-10 10-15 15-20 20-25

f 1 2 2 3 5 10 8 4

III. PYlwA dw iek mwp vwrvwrqw vMf nUM smJx ivc kyNdrI
mu`l nUM iek cMgw pUrk hY[ it`pxI kro[

IV. hyT ilKI swrnI qoN, kwrl pIArsn ivDI duAwrw sih-
sbMD dy guxWk dw ihswb lwE :

X 6 2 10 4 8

Y 9 11 — 8 7
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X Aqy Y lVIAW dy gixqI AOsq kRmvwr 6 Aqy 8

hn[

Bwg—B

V. hyT ilKy AMkiVAW qoN X 'qy Y Aqy Y 'qy X dy prwvrqn

smIkrn dw ihswb lwE :

X 1 2 3 4 5

Y 2 5 3 8 7

VI. iek tweIm lVI dy ruJwx mu`lW nUM mwpx dIAW v`K-v`K

ivDIAW dI ivAwiKAw kro[

VII. hyT iliKAW ivDIAW vrq ky 1988 leI kImq sUck

inSwn dw, hyT ilKy AMkiVAW qoN ihswb lwE :

(a) lyspwier (Laspeyre) dI ivDI[

(b) pwSy (Paasche) dI ivDI[

(c) iPSr dI ivDI[

(d) fwribSbolyA (Dorbishbowley) dI ivDI[



 swl A B C D

kImq mwqrw kImq mwqrw kImq mwqrw kImq mwqrw

 1980 24 8 9 3 16 5 10 3

 1988 30 10 10 4 20 8 9 4

VIII. ieMtrpolySn Aqy AYkstrwpolySn ivc AMqr spSt kro[

ku`J Tos audwhrxW lY ky ieMtrpolySn dI loV spSt qOr

'qy idKwE[

Bwg—C

(lwzmI pRSn)

IX. hyT iliKAW 'qy sMKyp not ilKo :

1. kyNdrI pRivrqI[

2. PYlwA[

3. qbdIlI dw guxWk[

4. inscy dw guxWk[

5. Anumwn dI imAwrI qru`tI[
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6. prwvrqn guxWk kI hn?

7. ieMtrpolySn dIAW mwnqwvW[

8. islislydwr qbdIlIAW[

9. sih-sbMD dI aupXogqw[

10. cqurQk ivcln[

——————
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